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Question Number : 1 Question Id : 630680634222 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is correct regarding subtraction of vectors as per the given figure?

0O C
—tt>
B A
Options :

| v OC=0A-OB
, » OC=0A-(AB+OB)

3 # OC=0A=O0B



4 % OC=4(0A) - (0BY

Question Number : 1 Question Id : 630680634222 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

few ov o F sepEn wfeelt F cuEeew & ey # ARRa # & Fa-ar Fwew wdr 82

0O C
—tt>
B A
Options :

| v OC=0A-0OB

, & OC=0A—-(AB+OB)

3 # OC=0A=O0B

L u OC= J(OA)? — (OBY

Question Number : 2 Question Id : 630680634276 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A coil having a resistance of 15 Q and an inductance of 0.5H is connected across 100V, 50 Hz AC supply. Find the power factor.

Note: For this question, discrepancy is found in question/answer.
Full Marks 1s being awarded to all candidates.

Options :
1.0.625
2.0.252
3.0.951
4.0.826

Question Number : 2 Question Id : 630680634276 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

15 Q feRIY 3R 0.5H IR aTelt Th HSat 100V, 50 Hz AC MYl T T | XIfad 1076 1d Hiforg|
Note: For this question, discrepancy 1s found in question/answer.
Full Marks is being awarded to all candidates.

Options :
1. 0.625
2.0.252
3.0.951
4.0.826

Question Number : 3 Question Id : 630680634277 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statement is correct regarding frequency?

L. It is defined as the number of cycles per second.

II. In India 50 Hz frequency is common.



Options :

1. % Onlyl

2. % Only II

3. ¥ Both I and II
4. % Neither I nor II

Question Number : 3 Question Id : 630680634277 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MaRT F Taiy B Foffed & 3 o1H-91 FF T8l 32

1. 39 U S Teh! Bt BT & T B UG foa Srar g1
IL. YR # 50 Hz 3Ry g |

Options :

1. % Had 1

2. % Had 11

3. ¢ 1R g

4. % FATARAG I

Question Number : 4 Question Id : 630680634225 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT the reason of the superiority of synchronous motor over induction motor?
Options :

1. # It is a constant speed motor and does not fall with load.

2. ¥ It has low leading and lagging power factor.

3. % It has good efficiency.

4. % Speed is more than that of induction motor.

Question Number : 4 Question Id : 630680634225 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fufeRad o @ H1F-91 faded IRr Hiex R JegabTel! Hiex &1 ATl & SR8 82
Options :

1. * g U RRR TIf aTefl HIeR § 3R oS o A1 ufciel el giel g |

2. ¢ W 3 3R UL Wfdd Ui = i g

3. % 3HD! PRIGE 3B BIch o

4. % THP! T, IROT AR F 31 gt 21

Question Number : 5 Question Id : 630680634229 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT correct regarding classification of cables according to voltage?
Options :

1. % Low voltage cables for operating voltage up to 1000 V.

2. ¥ High voltage cables for operating voltage up to 11000 V.

3. % Super tension cables for operating voltage up to 33000 V.

4. « Extra high tension cables for operating voltage up to 132000 V.

Question Number : 5 Question Id : 630680634229 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
dleedl & TR el b B0 P Tey H Fufafad § § HH-91 fiwe we T8 22

Options :



1. % 1000 V d% YaTaH dieedl & fog = dieedl dad
2. % 11000 V T YaTa dieedl & o8 3o dieed] Had
3. % 33000 V T FATSH dieedl & (ol YO =M had
4. ¢ 132000 V I TaTAH dieedl & forg ifafved 818 ¢¥H s

Question Number : 6 Question Id : 630680634230 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following factor is to be considered for selection of cable of correct size and type for a particular application?
I. Permissible voltage drop.
II. Short-circuit rating.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. % Neither I nor 11

Question Number : 6 Question Id : 630680634230 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

forht faRiy ST & forw Teh SR 3R UHR & FHad & 7o & ford FHufied & ¥ forg sRe W AR fovar s anfgwe
1. 35 dieedl UTd

11 g-uRuy e

Options :

1. % Had 1

2. % Had Il

3. 13RIl

4. % A TRAG

Question Number : 7 Question Id : 630680634232 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statement is correct regarding PVC (Polyvinyl-Chloride) Insulated Cable?
1. Tt is a thermoplastic synthetic resin and is being widely used as insulation.
II. It has high electric resistivity, good dielectric strength and mechanical toughness over a wide range of temperature.

Options :

1. % Only I

2. % Only I

3. ¥ BothIand II
4. ® Neither I nor II

Question Number : 7 Question Id : 630680634232 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

PVC (TR a-aaRZS) faggarifta Fad & Ty H FAufafad & § &F-91 &y I8t 82

1. I8 T JmTeieds Ridfee IoM 3R 9T e w0 & RggaRied % &0 8 ST fear s 3|
11. 399 3= faqgd ufeRiuehdr, 3rest Ridega grmed 3R faggd arad uReR & gifie Jegar g 1
Options :

1. % Had |

2. % Had I

3. ¢ 13RI aHl

4. % A IRAG I



Question Number : 8 Question Id : 630680634233 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT the cable jointing material?
Options :

1. # Cable Lugs

2. # Single Compression Brass Glands

3. % Paper Tapes

4. ¥ Tropoline Casting Resin System

Question Number : 8 Question Id : 630680634233 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fFrofafed o 9 o1F-9 ammh Sad Sie- are areh =18t 52
Options :

1. % Had T

2. % R HURH 919 Wi

3. ¥Ry

4. % AR PIRET XR Riem

Question Number : 9 Question Id : 630680634279 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Normally cables are supplied in lengths up to m on each drum.
Options :

1. ¥ 500

2. % 3500

3. % 5000

4. % 10000

Question Number : 9 Question Id : 630680634279 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T SH TR UT: m & P TS B Had YL <t et g1
Options :

1. % 500

2. % 3500

3. % 5000

4. % 10000

Question Number : 10 Question Id : 630680634215 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is INCORRECT about primary cell?
Options :

1. # If discharged once, cannot be recharged.

2. ¥ Heavy in weight.

3. ® Mostly used for intermittent work with low current rate.

4. % Daniel cell is an example of primary cell.

Question Number : 10 Question Id : 630680634215 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Ui Id F Gy # Fafafad § @ H-a1 e Taa 82

Options :

1. % T gR FRIARIE 811 R YR1afRra &t foan i g 31

2. ¢ HR 3HfH AT B

3. % U fA9 YRT &R & 1Y SHTaRIRIS B B & (o1 SuaNT fhar Sar g |
4. % 3T a, Trufie I T IR0 B

Question Number : 11 Question Id : 630680634275 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is INCORRECT regarding parts of lead acid cell?

Options :

1. % The container is made of hard rubber or bituminous compound which accommodates plates, separators, electrolyte etc. in it.
2. ¥ Separators are made from specially treated wood, celluloid and are used to insulate the active plates from one another.

3. % For acid cell the electrolyte used in dilute solution of sulphuric acid.

4. ¥ Cells are connected in parallel to form battery.

Question Number : 11 Question Id : 630680634275 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

S TS Ia & YT & ey B Fafifed § 9 $H-91 6 TTad 82

Options :

1. % R B3R IR 1 ey it J 71 a1 & el wie, e, 3dacienge onfe ga g

2. % YU fIRY IUARG T al, Yegarss I & 81d & SR Tfthg Wiel &I T gaR ¥ AfAd a1 & forg Iy fve ol €|
3. % URYS 90 H, JeRIRe 3 & o Uit § 3aiaeiege b1 SUTNT foha S 8|

4. ¢ e I & U I B AR HH A SIST Jar gl

Question Number : 12 Question Id : 630680634216 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT the characteristic of nickel iron cell?

Options :

1. ¥ It has good mechanical strength due to steel plates.

2. % [t is superior to lead acid cell in mechanical strength, durability, and robustness.
3. # There is no harm to leave it in discharged condition for a long period.

4. % The cell cannot withstand heavy charge and discharge currents.

Question Number : 12 Question Id : 630680634216 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fFafafed & 9 -3 faRvd Red ST Id &1 faivdr 98Y 82
Options :

1. % W P Wel P PR 3TN 33T I3 g gl g1

2. % Tifye I, R 3R Aerec # 98 7S TS 99 3 dgR B
3. % TU o9 GHY qp PRI 3= # e A 1S g TS 8 21
4. A YIS MY 3R PRI 4R13H Bl T T8l HR bt g |

Question Number : 13 Question Id : 630680634257 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In the context of internal wiring used in domestic installations, which of the following is INCORRECT about cleat wiring?
Options :



1. % Cleat wiring is recommended only for temporary installations.
2. % The cleats are of three types, having one, two or three grooves, so as to receive one, two or three wires.
3. % Cleat wiring is one of the cheapest wirings considering the initial cost and labour.

4. ¥ This type of wiring may be done by highly skilled persons.

Question Number : 13 Question Id : 630680634257 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

W URASTH & ST o1 o1 aTelt SHidies arafe & Yeu #, acfie arafin & dey § fufafead & S oF-a1 Tad 82
Options :

1. * Feite arafT &1 SRINT dhad SRR TRITIAT & forg &t el ]

2. % Filc A UPR P 8Id ©, 8 T, &1 a1 i T 8l ©, o9 378 U, &1 a1 diF dR STa ST Jhd 8

3. % 3RS AT 3R 91 B S/ gU FATC AN U e Tl T g |

4. ¥ 3YYBR P AR AP S AfRTI! gRT BT o Tebell B

Question Number : 14 Question Id : 630680634258 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is INCORRECT about distribution board?
Options :

1. % The main distribution board shall be provided with a switch or circuit-breaker on each pole of each circuit, a fuse on the phase or
live conductor and a link on the neutral or earthed conductor of each circuit.

2. # Branch distribution boards shall be provided with a fuse on the live conductor of each circuit and the earthed neutral conductor shall
be connected to a common link and be capable of being disconnected individually for testing purposes.

3. ¢ Distribution boards shall be fixed at a height more than 15 metres from the floor level.

4. % These shall be fixed on suitable stanchion or wall and shall be accessible for replacement of fuses.

Question Number : 14 Question Id : 630680634258 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

faaRor 91 & Tety A FRgfoiad # § H1F-91 H3F Tad 82

Options :

1. % 77 faaRur 91 H, Ul IRUY & TS U TR U R a1 wfdhe -saw, Bt a1 fagg-1a 91 IR Ud WS, 3R Jdd URuy
¥ IR a1 YIufdhd e W s feid v far smar 2|

2. % Al fARUI 918 H, Ul UGy & f4gg-1g Ide IR Uh WS YaH fadl Sl &, SR YU d fhd T SeRiF arde &I Ud
BT o T SIS SITa § 3R Tterur & 3=l & oy 39 gue =0 I fawaiford fvar o gebar 21

3. ¢ fARU SIS B & qa 15 Wex F 3% S R T o § |

4. % 38 IUYFd WHT IT IR TR AT ST § 3R WS 3 UiGRToA & forg g aivg xar o g |

Question Number : 15 Question Id : 630680634248 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is INCORRECT regarding the parts of battery charger?
Options :

1. # A transformer to step up the AC mains voltage to the desired AC voltage.
2. % A selector switch for voltage and current selection.

3. % A rectifier to convert AC into a unidirectional DC.

4. % A current limiting circuitry to prevent flow of excessive charging current into the battery under charge.

Question Number : 15 Question Id : 630680634248 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Jedt Aok & YT & ey § Fgfeied o @ eF-91 fawed Tad 82



Options :

1. ¥ AC T dieedl &1 difdd AC dieed! b I B & fod U TRIHIR

2. % diced! 3R YRT 99 & oTT T Hoiae aa

3. % AC B TSGR DC & 95a & forT U feyarl

4, ® aﬂﬁﬁrcraﬁm%"réﬁrﬁ 3fYFH AT W%mﬁm%m@ YRT TP TRUID] (current limiting circuitry)

Question Number : 16 Question Id : 630680634218 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statement is correct regarding shunt-wound generator?
L. In this generator the field windings are connected in parallel with the armature conductors and are made with many turns of fine wire.
II. Shunt generators with regulators are used for lighting and power supply.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 16 Question Id : 630680634218 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

UTed Seferd e’ & Faiy § Fafefad § @ 191 vy €t 82

L. 39 SFReR § Wies drEfE, iR arad! & I1y TR 8 H ! gl § 3R Udd dR & ds Bl o fAfd it §1
11 WQeR gad e A ReR BT SUAIT U1 3R faggd myfef & for fasar Srar g1

Options :

1. % $Had 1

2. % $Had I

3. ¢ 13RI gHl

4. % AA1MRA I

Question Number : 17 Question Id : 630680634219 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What can be the reason for a generator gives high sparking on commutator?
1. Unequal brush spacing.
II. Reversed interpole coils.

Options :

1. % OnlyI

2. % Only II

3. ¥ Both I and II
4. % Neither I nor I

Question Number : 17 Question Id : 630680634219 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SRR § fequRade R 3= Wifdh T &1 T HRUT 81 bl 82
1. 3 HM X1 3aRra-

11. IchH SHaRIyd Haferdi
Options :

1. % Had 1

2. % Had I

3. ¢ 1 3R 1Sl

4. % FATARAG



Question Number : 18 Question Id : 630680634217 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT correct regarding parts of DC machine?

Options :

1. % Body or yoke supports the field winding.

2. % The poles are surrounded by field coils supplied with current usually from the machine itself for the excitation.
3. % The purpose of armature is to stop the conductors in the uniform magnetic field.

4. % The purpose of the commutator is to take in and give out the currents from the armature.

Question Number : 18 Question Id : 630680634217 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

DC A & U & Tay # Fofafed § 9 oH-a1 fdww w8t 78 82

Options :

1. % SISt A1 A1, IS AT &) Juld ol g1

2. % I & foIe ¢a g 1= 9 g Smyfef ot 72 4Ry areft & Fsferi ¥ R g |
3. AAD] B! THIHH TEBIT & H AhT, SR BT I gar g |

4. % TR F YRTSH BT M-V HRAT fequRade 1 I I 8|

Question Number : 19 Question Id : 630680634220 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is correct regarding shunt wound DC motor?

Options :

1. % In this type of motor the field has few turns of heavy conductor which is connected in series with the armature.
2. ¥ This motor has the characteristic of decreasing of the speed for increasing load.

3. ¥ This motor is useful for driving pumps, lathe, drill, printing press etc.

4. % This type of motor never used without load.

Question Number : 19 Question Id : 630680634220 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ured Feferd DC Tex F Taiy H Fufafed § 3 H1F-91 H3= 96l 82

Options :

1. % SYUDR P AR F, & F YIS I & 8 B Bl o ol SR & 1Y vty § 3 8 2
2. % YA A, TS g6 W Id HH 8 9 &1 fawar gt 81

3. ¢ g Hier U, WR1e, f3a, fifd o onfe gam & fow Suarfi g1

4. % IYYBHR B! Hiex b1 S i f91 e & IuahT 78t fban sran 2

Question Number : 20 Question Id : 630680634221 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Speed of DC motor can be controlled by
I. by placing rheostat in series with field
IL. by placing rheostat in series with the armature

Options :

1. % Onlyl

2. % Only II

3. ¥ BothIand IT
4. % Neither I nor 11



Question Number : 20 Question Id : 630680634221 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

DC AR F I &, fafad fear ST gear g |
1. 3T &) wics & I JufichH § I@aR
11. R3Nee &Y 3R & 91y JufipH A Waar

Options :

1. % Had 1

2. % HAAII

3. ¢ 3R 1 GHl

4. % FAISRAG I

Question Number : 21 Question Id : 630680634260 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A substation has which of the following auxiliaries, electrical and mechanical system?
1. Fire-fighting equipment for transformers and substation equipment.
II. Standby emergency generating sets.

Options :

1. % Only I

2. % Only I

3. % Both I and I
4. % Neither I nor II

Question Number : 21 Question Id : 630680634260 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

& Judg § FafiRad # 9 HH-H 951, faggd SR i Jurel gidl 82
L. TRIGTER 3R JUdHg & IUHRON & forg SR Iuaor

11. SATATATORNT SHTATADTR S RICT ¥

Options :

1. % Bad 1

2. % Bad Il

3. Y 1R gl

4. % FATARAGN

Question Number : 22 Question Id : 630680634261 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Low voltage DC source is essential in a substation for
I. interlocking of equipment
II. emergency lighting system

Options :

1. % Only I

2. % Only II

3. % Both I and IT
4. % Neither I nor II

Question Number : 22 Question Id : 630680634261 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

f=1 dieedt De G & foru Iudhg & effavass g 3|
1. JUHRUI DI S de

1. TATAhTE YehTRT SHTRIT



Options :

1. % Had 1

2. % Had II

3. ¢ 13RI GHl

4. % FA MR

Question Number : 23 Question Id : 630680634262 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT the charging method of lead-acid battery?
Options :

1. # Constant supply charging

2. % Taper charging

3. ¥ Two-rate method of charging

4. + Variable current charging

Question Number : 23 Question Id : 630680634262 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

frafefed & 9 oH-3 Al ds-ufrs ded &1 sirazm fafy =18 2
Options :

1. % Jad myfd Smaz

2. % COR 1T

3. % MY P! Gl-ax Ay

4, ¢ ORI YR SHTARH

Question Number : 24 Question Id : 630680634263 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statement is correct regarding storage battery system for supply of DC power of control and protection systems in
generating station and sub-station?

I. In generating stations and sub-stations, the DC auxiliary power source is required for protection systems and for control system.

II. This supply is usually of 110 V or 220 V DC and obtained from storage battery system.

Options :

1. % Only I

2. % Only II

3. % Both [ and I
4. % Neither I nor II

Question Number : 24 Question Id : 630680634263 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

aaqwraq%fae?%sgﬂ»—g'ﬁﬁﬁamshvgv&nwﬁnﬁaﬁmﬁqgaﬁwqﬁ%%u@ﬁéeﬁma?wwﬁﬁ@aﬁr
T HYA ?

1. I Hal 3R Ju-dhgl B, JR& yonferdt SR Fa=01 yuret & fae pe grae faggd id &1 SavadhdT gidl ¢ |

I1. T8 MY T 110 V AT 220 V DC B Bl § 3R TRt St yunedt § wred &t et g |

Options :

1. % Had 1

2. % Had I

3. ¢ 13RI aHl

4. % FAIRAG I



Question Number : 25 Question Id : 630680634265 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statement is correct regarding station battery?

1. The station batteries are a source for operating DC control system equipment during system disturbances and outages

II. Normally, in a 33/11 kV substation, the DC system is of 30 cells consisting of 15 lead acid storage batteries or Nickel-Cadmium
batteries.

Options :

1. % OnlyI

2. % Only II

3. ¥ Both I and II
4. % Neither I nor I

Question Number : 25 Question Id : 630680634265 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

WRYH 9t & Yoy # i # ¥ SH-91 $3= 981 82

1. JuTTelt H g YT, 3R farstell oM & SR ®RF Sl DC FHE=r yunet SUHRUr & Tara- & e Te I gl g
I1. 33/11 kV JU-3% B, DC FOTTel Tr: 30 Vail 1 g1t 8 Ford 15 a's uRis @RS ot a1 Rda-drefirm sefei gid g
Options :

1. % Had 1

2. % Had I

3. 13RI GH!

4. % FATARAG 1

Question Number : 26 Question Id : 630680634214 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT the property of magnet?

Options :

1. % The magnet always attracts iron and its alloy.

2. ¥ Like poles repel and unlike poles attract each other.

3. ¥ A magnet cannot impart its properties to any magnetic material.

4. % If a magnet is broken into pieces, each piece becomes an independent magnet.

Question Number : 26 Question Id : 630680634214 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

frafeRad & Q -1, Jrach BT JUILH e 82

Options :

1. * PGP o Alg AR D! YU BT BT BT g |

2. % UM Yd UPH-goR B! Uit Hd § SR AT §d Th-guR Bl SHTHNd Hed &
3. ¢ JHE [l BT Uerd B 39 T[0T UeH Tl &R gbdl g

4. % g forelt I oI ghel B AIS a1 L Al U gahal U Waad g & oirdl ¢ |

Question Number : 27 Question Id : 630680634273 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is INCORRECT about fluorescent lamp?

Options :

1. ¢ They have instantaneous start and become momentarily off when supply goes off.
2. % Colour of light varies with the phosphor coating.

3. # Installation cost is maximum.



4. % Running cost is minimum.

Question Number : 27 Question Id : 630680634273 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
m(ﬂuorescent)%q$ﬁaﬂﬁﬁmaﬁgﬁq-w HYT A 82
Options :

1. ¢ 3 TbTd A B & 3R 3MYfef §7g 819 IR ¥ 52 g1 9 B

2. % THTR BT T HITBR BT & 1Y yRafdd g 3|

3. % TRITOH ARTA S gl 3

4. % AT ART AT BIelt § |

Question Number : 28 Question Id : 630680634208 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT the merit of fluorescent lamp?
Options :

1. ¥ High luminous efficiency.

2. ¥ Long life.

3. ¥ High heat output.

4. % Low glare level.

Question Number : 28 Question Id : 630680634208 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

frafoiad § @ iF-a1 fawed ufaciftsiia du &1 7o T8l 82
Options :

1. % I SUIfd qafar

2. ® qdl Sliabre

3. % 3= dlU Sl

4. % A 9y TR

Question Number : 29 Question Id : 630680634207 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statement is correct regarding design of street lighting installation?

1. In the diffusion principle the design of the reflectors is such that they may direct the light downwards and spread as uniformly as
possible over the surface of the road.

II. In the specular reflection principle the reflectors are curved upward so that the light is thrown on the road at a very large angle of
incidence.

Options :

1. % Only 1

2. % Only II

3. % Both I and II
4. % Neither I nor 11

Question Number : 29 Question Id : 630680634207 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TR UBT (street lighting) TRITIT & fSWT8 & Jay # Fofefad # ¥ HH-91 Y= Il 82

1. foeRur Rigid 8 WRIada! &1 fSo 39 UHR &1 81d1 § o d UHT=1 Bl 11d &1 3R S RId 3% Ihd § 3R I8F & 56 W
JYRGHT JAH FY I el Jhd ¢ |

11. Frafta wRrads Rigia % wiade SR &1 3R afthd 81 € aifs UhT TS IR 9gd 98 AT HI07 IR ATafad 8|

Options :



1. % &I 1

2. % Had I

3. ¢ 13RSl

4. % FAAMRAS0

Question Number : 30 Question Id : 630680634253 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT the type of washing machine?
Options :

1. # Ordinary

2. % Full fledge driven

3. # Semi-automatic

4. # Fully automatic

Question Number : 30 Question Id : 630680634253 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fafafea & @ eF-a1 faea ol 74 &1 UeR T8 32
Options :

1. % fsyt (Ordinary)

2. wmw (Full fledge driven)

3. % gel.3ficAfes (Semi-automatic)

4, % Wﬂ-\ﬁ?ﬁﬁ% (Fully automatic)

Question Number : 31 Question Id : 630680634254 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the context of an electric iron, the transfer of heat from the heating element within to the material being ironed is done by the
Options :

1. ¥ sole-plate

2. # heel-plate

3. ® pressure plate

4. % cord

Question Number : 31 Question Id : 630680634254 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
faegd et & TaH H, ST &1 o YaT areh # g Tfere A &1 &7 SfaRum ERUEIESIGIE]
Options :

1. ¢ did-wie

Question Number : 32 Question Id : 630680634255 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statement is correct regarding an electric bell?
1. An electric bell is a mechanical bell that works of an electromagnet.
IL. It is used in rail road crossings, telephones, fire/burglar alarms, school bells and door bells etc.

Options :
1. % Only I



2. % Only II
3. % Both I and II
4. % Neither I nor II

Question Number : 32 Question Id : 630680634255 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fagga Ut & Tdy & Fufied & & HH-91 U= 9t 22

1. fagga 4 ues Tifyes dt & S faqyd grae &1 kg o1 el 2

1. STHT ITTNT XA ISP THUR, DI, SFT/ERTCR AT, Tpdl Bt °fedt 3R earst o1 °fedr snfe o far smar g1
Options :

1. % Had |

2. % Had I

3. ¢ 13RIl

4. % A TRAG I

Question Number : 33 Question Id : 630680634283 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT the type of wash technique?
Options :

1. % The equivalent wash technique

2. # The agitator wash technique

3. % The air power wash technique

4. # The neuro fuzzy logic technique

Question Number : 33 Question Id : 630680634283 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fafafad & @ S19-91 31 (wash) dH-d BT THR T8l 82
Options :

1. ¢ 3f@ddic I dBid

2. % QRTCER AIRI Al

3. % QIR UTR 4 dep-ilch

4. % IR HOI AP qh-Id

Question Number : 34 Question Id : 630680634256 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following property is NOT correct regarding nichrome wire, which is used by all the electrical heating appliances having the
heating element?

Options :

1. ¥ Its mechanical strength is good.

2. % [t can withstand the thermal stress.
3. % It has high temperature coefficient.
4. ¥ It has a high specific resistance.

Question Number : 34 Question Id : 630680634256 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
mag,mem?aﬁmﬁﬁ@awmﬁﬁmw%,s@ﬂa’*uﬁﬁaﬁ@aﬁ@rﬁmmwuﬁ
?

Options :



1. % 3! gifFe I 33t gl ]

2. % g S Ufqed ) Gg- HR Ghdl g
3. ¢ TP 19 [0 I &I g |

4. % 3o ARy ufeRly ST BT 8

Question Number : 35 Question Id : 630680634259 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A power measuring meter is called
Options :

1. ¥ wattmeter

2. % voltmeter

3. ¥ ammeter

4. % galvanometer

Question Number : 35 Question Id : 630680634259 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
faqgauia As Hiexd el ol
Options :

1. ¢ GICHICR

2. % giceHie]

3. % Uiy

4. % TR

Question Number : 36 Question Id : 630680634284 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT the type of wattmeter?
Options :

1. % Dynamometer wattmeter

2. + Non-reactive wattmeter

3. # Induction wattmeter

4. % Electrostatic wattmeter

Question Number : 36 Question Id : 630680634284 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fafafEa 7 ¥ S1F-91, areHie’ BT UHR T8l 82
Options :

1. % STOHHICR areHIeY

2. ¢ AH-Rufaea aredicr

3. % $SaRM dleHcY

4. % IAGCRCIEH aTeHeR

Question Number : 37 Question Id : 630680634235 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

‘Megger’ Insulation tester is consists of two equipments in one case, one is and other is hand driven DC generator.
Options :

1. # wattmeter

2. ¥ ohmeter



3. % yoltmeter

4. ¥ galvanometer

Question Number : 37 Question Id : 630680634235 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

AR (Megger) SYORF IR A TH FAH G JUGRVI G 6, Th  BIdl ¢ 3R GURI g1 I TaAferd g aTell DC SRex giel gl
Options :

1. ® gt}

2. ¢ IR

3. % glccHicy

4. % TR

Question Number : 38 Question Id : 630680634236 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT the main part of multimeter?
Options :

1. # Moving coil meter

2. % Transistor

3. ¥ Different type of resistances

4. # Rectifier

Question Number : 38 Question Id : 630680634236 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

frafofed & & ®F-91, A HieR &1 I I 81 82
Options :

1. % g pSdl Hiex

2. ¢ TifoReR

3. % fafied YR & UfeRIY

4. % ey

Question Number : 39 Question Id : 630680634239 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statement is correct regarding voltmeter?
I. It is essentially a galvanometer having a known high resistance in series with it.
I1. The connection of voltmeter is always in parallel with the part of the circuit across which the voltage is to be measured.

Options :

1. % Only I

2. % Only II

3. % Both Iand II
4. % Neither I nor II

Question Number : 39 Question Id : 630680634239 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

deeHier & Yoy A FafiEd 3 ¥ H1F9-91 $3- T8 22

L. T8 Hold: U ead-Hiex gidn € foraes Ty 9ufiess o e J1d I Ufekie gt g1

1. AieeHIeR BT TS, IRTY P I HFT & Jid JAFIORSGH | gidl § o W dieedT A S |
Options :

1. % Had 1



2. % FHad Il
3. ¢ [ 3R 11 GHI
4. % FA1ART0

Question Number : 40 Question Id : 630680634237 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the context of multimeter safety precaution, which of the following is NOT correct?
Options :

1. ¥ Always use the ohmmeter section on a live circuit.

2. % Never connect the ammeter section in parallel with a voltage source.

3. # Avoid touching the bare metal clips or tips of the test probes.

4. % Whenever possible, remove the voltage before connecting the meter test leads into the circuit.

Question Number : 40 Question Id : 630680634237 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Aeeitiex JRem gdwraur & T 8, fufifea § @ o fawe ad a8 2
Options :

1. ¢ Toitd URTY (live circuit) TR ed NHHIC Y- BT IUTNT B |

2. % Uy Yo &l St i} diecdl Wid & SHHIR HHA SIS |

3. % ¢X¢ U9 & 3FTEaRd UTfcdd faay a1 RR &1 g+ 9 a9 |

4. % 59 1} GHg g1, Hiex ¢ TS &I IRYY H Sig ¥ Ugdl dieedi gl gl

Question Number : 41 Question Id : 630680634204 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is an empirical formula commonly employed for spacing of conductors for an aluminium conductor line? (where

S = sag in meters, V = line voltage in kV)
Options :

Spacing =S+ x meters
Lo 150

, % Spacing =S +V meters
. / a1
Spacing = {Jg +V ]x = meters
% . ,

4 % Spacing =fS — Vmeters

Question Number : 41 Question Id : 630680634204 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
frafefed & § o1H-u1 fad e e gergurd 97 & R sk wR Ygfifam g a1ee & i aree & o siavtad & forg
IUGNT b ST 82 (SET S = Fet HieR §, v = g dleedl kv H ®)

Options :

4 A"
AT =4S+ — T
L& 150



5 % AT =S+ vV HT
HTE = («.@—r\*’]x% e

3. % ) '

4 % HRES =5 -V ey

Question Number : 42 Question Id : 630680634203 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statement is correct regarding cross arms?
1. The function of cross arms is to keep the conductors at a safe distance from each other and from the pole.
II. Cross arms are of various types such as V-shaped, zig-zag shaped etc.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. % Neither I nor II

Question Number : 42 Question Id : 630680634203 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1 T & ey H Fofafed o ¥ oH-91 Hy7 98 82

1. T I TR, T O & GRI& G2 TR a1 14 3HTH 1 H1 g g |
I 561 3T fafia TR & Bld € o V-3THR, FRT-ST SIHR Sfe |
Options :

1. % Had 1

2. % Had Il

3. ¢ 1SR 1Ml

4. % A TRAG

Question Number : 43 Question Id : 630680634210 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the context of conductor of overhead lines, what does ‘S’ stands for in ACSR?
Options :

1. ¥ Steel

2. % Silicon

3. # Super

4. % Standard

Question Number : 43 Question Id : 630680634210 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

RRRR 15 & a1ed & Teu #, ACSR H 's' &7 o1 37 52
Options :

1. ¢ Steel (K1d)

2. % Silicon (RifcreT)

3. * Super (W)

4. % Standard (XSS)



Question Number : 44 Question Id : 630680634212 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT correct regarding potential difference?
Options :

1. % It exists between any points in a circuit.

2. % It is measured on a closed circuit.

3. % Itis less than the electro-motive force.

4. % 1t depends upon the resistance of the circuit and is inversely proportional to it.

Question Number : 44 Question Id : 630680634212 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

favataR & ey # fafafed § 3 oH-w1 fawe adt a8 3

Options :

1. % g uRoy & fargl figail & fia SufR@ giar 3|

2. % 3 TS §a URUY TR AT STl 3|

3. % Ug faggddes 90 4 HH Bl g

4. + T8 URTY & TRty W AR FHRaT § SR S5 eh AU gt g

Question Number : 45 Question Id : 630680634211 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is INCORRECT about current?

Options :

1. # Flow of electrons in any conductor is called electric current.
2. % Its symbol is ‘I’.

3. # Its measuring unit is ampere.

4. ¥ It is measured by ohm-meter.

Question Number : 45 Question Id : 630680634211 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

YRT & Yay # Ffoied & @ HH-u1 fawe Ted 82
Options :

1. # ot aree o aael & UaTg &I fagygd URT Fgd ]|
2. % ZUHT YA ‘I BT ]l

3. % TP AU DI 3PS TR B

4. ¥ 3 ofm-1fiex gRT U7 ST & |

Question Number : 46 Question Id : 630680634274 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statement is correct regarding resistance?
1. Tt is the property of a substance which gives free flow of electrons through itself without opposition.
II. Its measuring unit is ohm.

Options :

1. % Onlyl

2. % Only 11

3. % BothIand II
4. % Neither I nor II



Question Number : 46 Question Id : 630680634274 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TRy & Jdy § Fofeiad # Q@ SH.-91 oy g8 82

1. 78 forsit v &1 g 701 § foryd SR 39 A1y ¥ fam fodt fariy & Saae =l &1 Had UaTg BlaT g |
1L 3! AU SBT3 3 (ohm) Bl 1

Options :

1. % Had 1

2. Fad

3. % [ 3R IIGHA!

4. % A TRAG

Question Number : 47 Question Id : 630680634213 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is INCORRECT about series circuit?

Options :

1. % There is only one path for the current flow.

2. % Total resistance is equal to the sum of its individual resistance.

3. % The total resistance is greater than the greatest resistance connected in the series circuit.

4. % The voltage across each resistance is the same.

Question Number : 47 Question Id : 630680634213 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

goft ufvoy & Tee & Fafifed & @ S fabey Tead 82
Options :

1. % YRT & YaTg & Y Pl U 81 0y Bl g |

2. % B UfRIY, 3P JUb UfeRIY b TNTHd b SRR |

3. % Fd ufRly, Aot uRuy 3 I3 Ted 98 ufaRly 3 i grar g1
4. ¢ YAH UfRIY W dleedl THM gidl 3|

Question Number : 48 Question Id : 630680634268 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT correct regarding earthing?

Options :

1. % Earthing avoid electric shock to human body.

2. % Earthing avoid risk of fire due to earth leakage current through unwanted path.

3. # Earthing ensure that no current carrying conductor rises to a potential with respect to earth than its designed insulation.
4. ¥ Barthing brings the body of the equipment to higher potential.

Question Number : 48 Question Id : 630680634268 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

'J-NW (earthing) & dey o ﬁ"}lﬁf@?{ 79 HH-91 fdbey ﬂ?)[ qﬁ%"

Options :

1. # YU, AT TR $! fagyga smard I Famar gl

2. % WU, aifed Uy & AT ¥ YfH RO YRT & HRON S & Wav ° FaTdl g |

3. % YHUD § ug G fobar oirn & b 1S +ft yRTare) =reie, Yy & Yay § e fbu e fegariys &) qon § i
f3va T el ugaar o

4. T, SUSHRUI P SIS BT 3T IR R AT B



Question Number : 49 Question Id : 630680634271 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following material is NOT used in fuse wire?
Options :

1. # Copper

2. % Aluminium

3. ® Zinc silver

4. ¥ Mica

Question Number : 49 Question Id : 630680634271 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

WS IR § Fufafead & § forg uerd o1 Sught 98 fear Srar g2
Options :

1. % qial

2. % UgfAfam

3. % fSiep RieR

4. 3Ydh

Question Number : 50 Question Id : 630680634272 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statement is correct regarding lightning arrester?
I. Lightning arresters are devices which prevent damage of apparatus due to high lightning voltages.
II. The lightning arrester provides a high resistance path to ground for the current from a lightning strike.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. % Neither I nor II

Question Number : 50 Question Id : 630680634272 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fsd Fade & ey § Agfeiad & @ oF-91 H37 98t 82

1. af$a Fade T IuwRur § S 3= afed dieedl & BRI SUSR &Y &fd Bl A § |

11. df&d fade, afea smaTd I Ioa URT & o Uy 9 Ue 3= UfeR1Y Uy U HRal g
Options :

.Y FHad |

2. % Had Il

3. % [ 3R 1Ml

4. % A IRAG

Question Number : 51 Question Id : 630680634241 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In the context of central electricity authority safety regulation-2010, the Electrical Safety Officer shall be an Electrical Engineering degree

holder with at least years of experience in operation and maintenance of electricity plants or an Electrical Engineering Diploma
holder with at least years of experience in operation and maintenance of electric plant.
Options :

1. # ten, fifteen

2. % ten, five



3. # ten, eight
4. ¥ five, ten

Question Number : 51 Question Id : 630680634241 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
et fagya witesRor QRem fafmm-2010 % oo ¥, fagga qRem e, fagga o= & vema- SiR SrReur & &1 9§ &Y
[ & YT & Iy dggd ifHit®! fSi 4Re g1 a1t a1 faggd §a= & Uarer Ud SrR&m & &1 I &Y auf
%ﬂ%%mﬁ%@&ﬁ\w&ﬁ%@mmﬁmm|
Options :
1. # ¥, Ugg
2. % g9, UG
3. % ¥, 3flé
4. ¥ UG,

Question Number : 52 Question Id : 630680634243 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the context of treatment of electric shock, we have to follow the in the case of injury/burns to chest and or belly.
Options :

1. ¥ mouth-to-mouth method

2. # Nelson’s method

3. # Holgen-Nelson method

4. % Schafer’s method

Question Number : 52 Question Id : 630680634243 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fIggd Smard & ITIR & Yo H, g gy ale WAlesa »t fRIMAE ST uraa s grar gl
Options :

| v T R ya R

2. % g 1 fafy

3. % QiAo fafy

4. % QGBI B Al

Question Number : 53 Question Id : 630680634242 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the context of fire-fighting and protection, which of the following is the type of detector?
1. Obscuration type
II. Backscattering type

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. % Neither I nor II

Question Number : 53 Question Id : 630680634242 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

AR 3R JRem & T 7, Fafafed o ¥ oH-a1 fseaer #1ueR 82
1. TUSRYT (Obscuration) PR

11, Uy e (Backscattering) Uh IR



Options :

1. % Had 1

2. % Had I

3. 13RI GHS

4. % ARG

Question Number : 54 Question Id : 630680634240 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the context of central electricity authority safety regulation-2010, which of the following is correct regarding conduit?
Options :

1. ® It means the sum of the ratings of the electricity consuming apparatus connected to a consumer’s installation.

2. ¢ It means rigid or flexible metallic tubing or mechanically strong and tire resisting non-metallic tubing into which a cable or cables
may be drawn for the purpose of affording it or them mechanical protection.

3. # It means any wire, cable, bar, tube, rail or plate used for conducting electricity and so arranged as to be electrically connected to a
system.

4. ¥ It means an arrangement of conductor or conductors for the purpose of conveying electricity and forming a system or a branch of a
system.

Question Number : 54 Question Id : 630680634240 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Fef fagga witresvor JRen fafam=-2010 & S &, drae & Jaiy 8 Fafifed & 9 &H-91 H3= 98t 82

Options :

1. % BT 3 IUHIFAT F TRITTH T TAfoTd fIggd Wud - aTet SUSHRUN bt (T 1 ITHd g |

2. ¢ BT 4 YT P FoR AT T SIfaT1 1 i T J Yeg AR ferarae uferieh IR-urg & fa I 8, o v ar s
Fadl Pl FifAD GRET TG B & 35 I STl ol §hdl 5|

3. % 3uop! 3 frddl IR, Pad, IR, T4, ¥ AT We I 7, Fores1 IuanT faggd arem & forg frar omar 8 8k 39 ave fa=nfyd faran
ST & o g fardt omeht ¥ dggfas wu A JST |

4. % 3BT 3 faggd a8 B MR UUICH, I JUMTel &1 Ueb QRAT -1 & I6¥4 U ATed 1 aATeTah| o 19014 9 5 |

Question Number : 55 Question Id : 630680634266 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In the context of factors of estimating and costing, which of the following is NOT correct?
Options :

1. % Additional emergency expenses which may be due to any reason such as increase in cost of material or increase in labour rates etc.
are called contingencies.

2. ¥ Maintenance overhead charges on installation and administrative overhead charges are two types of overhead expenses.
3. ¥ The expenditure on supervision charges is 40% to 50% of the total cost.

4. % When cost of material for the project is added to labour cost on the project and overhead charges on this project is called production
cost.

Question Number : 55 Question Id : 630680634266 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
URba IR AT YR & SRe! & Ho &, Fafiafed # 3 oH-91 fdwed agt 781 32

Options :

L. %gri%lﬁaaWW@WW@@W%%WﬁWﬁq@mmﬁﬁq@maﬁ&szfﬁfw
ST B

2. % TYRIUF W REUN IURTT 3R Y% IuReqd, 3 UhR & YR 8Id & |

3. ¢ THIEUT TURT R I, $ol IRT BT 40% J 50% Bl 8

4. % terqﬁa'rn% ¥ forg Tl &t AnTd Y uREeT Bt 4T AT SR 39 URESHT 1R IUReqd § SiieT SITdl € df 39 Sd1e arTd
EI SIS



Question Number : 56 Question Id : 630680634226 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the context of concrete poles, what does ‘R’ stands for in RCC pole?
Options :

1. ¥ Reinforced

2. # Restructured

3. # Rebound

4. % Rolling

Question Number : 56 Question Id : 630680634226 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Heble Ul & UgH H, RCC T H 'R BT T 31 32
Options :

1. ¥ Reinforced (ﬁ%‘ﬂﬁ@)

2. % Restructured (ﬁE\TﬁTS‘C)

3. ® Rebound (ﬂ_GITCf;g)

4. ® Rolling (AT

Question Number : 57 Question Id : 630680634227 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

insulators are of egg shape, also called strain or guy insulators and are used in guy cables, where it is necessary to insulate the
lower part of the guy cable from the pole for the safety of people and animals on the ground.

Options :
1. % Post
2.+ Stay
3. # Shackle

4. % Suspension

Question Number : 57 Question Id : 630680634227 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
s’aﬁa 33 P Gﬂ?ﬁf & Bid %, K @ff (strain) T Mg sﬁéa (guy insulators) W} gl ST % 3R Mg Haal (guy cables) o

ﬁmw%ﬂﬁmﬁqmm 3R Sigafl BT YRef & o1 M= FHaa & Fee YrT &1 0 ¥ faggaRIfd &1 S

I
Options :
1. % ORC (Post)
2. ¥ ¥ (Stay)
3. % QB (Shackle)
4, % gWIH (Suspension)

Question Number : 58 Question Id : 630680634250 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the context of design of overhead lines, which of the following is NOT correct regarding main requirement of line support?
Options :

1. * High mechanical strength to withstand the weight of conductors and wind load etc.

2. # Cheaper in cost.

3. ¥ Heavy in weight with loss of mechanical strength.

4. % Longer life.



Question Number : 58 Question Id : 630680634250 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

RRTR a1zl b fSome & Geu & g guié ot qor stien & Jaiy A Fafifad 3 ¥ Hi-a1 b g 78 82
Options :

1. ® FAD! b YR 3R ag YR 3NfS HY Ge- B & forg 3= aifes amred

2. % HHAAIT

3. ¢ YA Jed 31 & 1Y 3 HR

4. % fdT Sig-Iebre

Question Number : 59 Question Id : 630680634251 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the context of line support, which of the following is NOT the type of steel pole?
Options :

1. # Tubular pole

2. % RCC pole

3. ¥ Rail pole

4. % Rolled steel joists

Question Number : 59 Question Id : 630680634251 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Are gure & ey #, Fufafed & 9 oH-91 € Uid 31 UeR 7181 82
Options :

1. % SgeR I

2.+ 3N (RCC) UIA

3. % 3 U

4. % e WA g

Question Number : 60 Question Id : 630680634282 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the context of components of overhead lines, which of the following statement is correct regarding barbed wire?
I. It is wrapped on a pole at a height of about 2.5 m from the ground for at least one metre.
II. This prevents climbing by unauthorized persons.

Options :

1. % Only I

2. % Only II

3. % Both Iand II
4. % Neither I nor II

Question Number : 60 Question Id : 630680634282 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

RRGR gt & M & G §, BieeR drR & Jeu § Fgfifed ¥ § HH-91 oy & 82
L 38 U R YA THT 2.5 m Bt SHATs WR YATH TP Hier I que SIrdr g

1. 98 3% d cafadal & Uid W e I Abar gl

Options :

1. % Had

2. % FHad I

3. ¢ 13RIl



4. % FATMRAS I

Question Number : 61 Question Id : 630680634267 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT correct regarding insulation resistance test between installation and earth?

Options :

1. % This test is taken up to know the standard of insulation of wires and cables used in the installation, that the insulation is sufficient
enough to avoid any possible leakage of current to earth.

2. % For testing the whole installation, the test is conducted not on main switch.

3. ¥ A testing set known as megger is used for the test.

4. % The earth terminal of the megger is connected to either earth continuity conductor or direct to the earth electrode.

Question Number : 61 Question Id : 630680634267 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TR 3R YA & o faggaRie ufaRiy wdteon & Teiy o Fafafad 3 9 oiF-a1 faww adt a8 82

Options :

1. % gg URTeT, IR0 B Ugad dRT SR hadll & fAggaRie A &1 S & forg faran S &, i yffr & o1 3 fasedt wvifaa
&R0 ¥ F91d & o faggarie uafa B

2. « Ul SRITOA & TRIer0T 3 forg, wteror ey g R Y fpan sman B

3. % Ue01 & oY AR TS T URIe01 AT 1 JUTNT foam ofra g |

%. % TR &I Wfﬁ:ﬂtﬂ?ﬁ Wﬁww (earth continuity conductor) @qasﬁm%m%ﬁ?) Wmﬁ@m
|

Question Number : 62 Question Id : 630680634269 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Earth resistance value does NOT depend upon which of the following?
Options :

1. ® Condition of soil.

2. % Temperature of soil.

3. # Metal of earth plate and earth wire.

4. ¥ Height and building material of building.

Question Number : 62 Question Id : 630680634269 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Yudh UfeRty A Fafafed 3 3 frg m R adff axar g2
Options :

1. % gar ol Rufq

2. % Hal Bl dIIH

3. % YHTHA W 3R YIS dR Bt g

4. ¥ g B SaTs d a0 greh

Question Number : 63 Question Id : 630680634270 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is the main reason for a new electrical installation is tested before it is switched on to the main?
1. To know the cause of failure of a particular circuit or an equipment and to locate the exact position of breakdown.
II. To ensure before a supply to a completed installation that it is free from faults and is in accordance with electricity rules.

Options :
1. % Onlyl



2. % Only II
3. % Both I and II
4. % Neither I nor II

Question Number : 63 Question Id : 630680634270 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

faret T faggd TRITTH 1 G-I (main) TR 99 A T U8 IUHT TR0 FHRA 1 G HRU FHfARed B J HH-91 82
1. fft faRw ufkuy o1 IueRr o1 fatradT o1 RN ST 3R BRI &1 Wi afufa o7 uar T |

11. gUf SRIToA & fore 3imgfel & gd ag gAfda o3 9 a5 aivl 3 god § iR fagga Fadl & sreu gl

Options :

1. % Had 1

2. % Had I

3. ¢ 13RI GHl

4. % A TRAG I

Question Number : 64 Question Id : 630680634205 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT the requirement of the insulating materials used for cables?
Options :

1. # High insulation resistance to avoid leakage current.

2. ¥ Good mechanical property.

3. ® Non-hygroscopic

4. ¥ Capability of withstanding low rupturing voltages.

Question Number : 64 Question Id : 630680634205 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

HEA P oTT STANT B 1 aTel! FaggaRied uard & Saxad faivdr FHafRad # 3 SIF-9 =81 52
Options :

1. % &RUIYRT Y 92 & o I faggaRie= UfeRiY

2. % 3wy i ore

3. % IR

4. T HSH dleedl Ag B B &l

Question Number : 65 Question Id : 630680634206 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT the method of laying of underground cables?
Options :

1. # Direct laying

2. % Draw-in-system

3. # Solid system

4. ¥ Crest laying

Question Number : 65 Question Id : 630680634206 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
frafiRed & 9 oF-I, yffrd sad foem ot A T8 &2
Options :

1. ® SRRGT W (Direct laying)



2. ® STQ:[%ET{ (Draw-in-system)
3. % 1\-—lﬁ%‘fgﬁlR_ﬁ[(Solid system)
4. JW@?@T(Crest laying)

Question Number : 66 Question Id : 630680634209 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is Cable Jointing Material?
I. Single Compression Brass Glands
II. Tropoline Casting Resin System

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. # Neither I nor IT

Question Number : 66 Question Id : 630680634209 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fFofifed o 9 SH-3 Sad site arell IRk g2
1. RiTTet SHURH o1 *ofs

1. TIUIfer HIfeeT IS yormedt

Options :

1. % Pad |

2. % Had 11

3. ¢ 1R g

4. % AATIRAGN

Question Number : 67 Question Id : 630680634245 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In the context of basic wiring practice, which of the following is the symbol used in layout for One-way switch, single pole?
Options :

o/
ol
eV

o/

Question Number : 67 Question Id : 630680634245 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
YR RN 3 & dey §, a4-d R, Riva uiar & forg siftrama & Faforfea 3 & eF-a1 Udie SuaiT fasan S g2

Options :



<§\\

e

Question Number : 68 Question Id : 630680634246 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In the context of basic wiring practice, which of the following symbol is used for wiring under the surface?
Options :

v LW

Question Number : 68 Question Id : 630680634246 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
YR AT 3 & Hed §, g8 & =i arafar & fon Fafafea 3 3 forg udie o1 Suam far s g2
Options :

| YL

Question Number : 69 Question Id : 630680634281 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The selection of switchgears depends upon the
1. fault current level
II. atmospheric conditions

Options :
1. % Only I
2. % Only II



3. % Both I and II
4. # Neither I nor I

Question Number : 69 Question Id : 630680634281 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
AR &1 7 RMR IR B
1. G 4RI (fault current) T ¥R

11. GTATARUI &1 GRIY

Options :

1. % Bad 1

2. % Had Il

3. ¢ 1R 1 gl

4. % FATARAG N

Question Number : 70 Question Id : 630680634247 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statement is correct regarding Switchgears?

1. Switchgears are mechanical devices designed to close or open the contact members in an electrical circuit under normal or abnormal
conditions.

II. Air circuit breaker is a type of L T switchgear.

Options :

1. % Only I

2. % Only II

3. ¥ Both I and II
4. % Neither I nor I

Question Number : 70 Question Id : 630680634247 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

iR & gey 7 Ffeiad § @ SH-91 By Ial 82

1. e gifte fEarga g1e § fore amm a1 s uRkfufadl & faggd uluy & wicae ARl & d &R a1 Waq & forg
feoirs fpar T g1

I1. TR Ffdhe 9§ Uh YR FT1 L T AR g g1

Options :

1. % $Had 1

2. % Had I

3. ¢ 13RIl

4. % A TMRT0

Section B
Section type : Online
Section Negative Marks : 0
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Is Section Default? : null

Question Number : 71 Question Id : 630680634302 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Fill in the blank with the most appropriate article:



rich should pay more taxes.
Options :
1. % a
2. % an
3. ¥ the

4. % no article

Question Number : 71 Question Id : 630680634302 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Fill in the blank with the most appropriate article:

rich should pay more taxes.
Options :
1. % a
2. % an
3. ¥ the

4. % no article

Question Number : 72 Question Id : 630680634299 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Fill in the blank with the most appropriate adjective:

The president had delivered an inspiring speech, when he was in power.
Options :

1. ¥ former

2. # lateral

3. ® current

4. % present

Question Number : 72 Question Id : 630680634299 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Fill in the blank with the most appropriate adjective:

The president had delivered an inspiring speech, when he was in power.
Options :

1. ¥ former

2. % lateral

3. ® current

4. % present

Question Number : 73 Question Id : 630680634301 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Choose the synonym for the word “adore” in the sentence given below:

She simply adores when people respond to her emails quickly. The fact that it happens so rarely just makes it more special.
Options :

1. #* professes

2. ¥ complies

3. ¥ reveres

4. % arouse



Question Number : 73 Question Id : 630680634301 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Choose the synonym for the word “adore” in the sentence given below:

She simply adores when people respond to her emails quickly. The fact that it happens so rarely just makes it more special.
Options :

1. # professes

2. % complies

3. ¥ reveres

4. # arouse

Question Number : 74 Question Id : 630680634323 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

frofifed vy 8, IR fawed! & 9, 39 fadhed &1 997 &L Sl HI8G H fGT TTU eg & IR g faR0r & &0 ardl fadwed 5|
foarelt A et fr (377) It uferal &1 s A 3T El

Options :

1. % TUraTae RN

2. % YA faRIvor

3. GG fa=woT

4. % URHUEES fqRwor

Question Number : 74 Question Id : 630680634323 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

FEfIRed Uy ¥, TR fawedl § 9, 39 faded &1 999 X ol SIS | [GU U Wea & 3JUR g [a2N01 & &Y aren [ddhed gl
st 3 ®a1 fo (37) Tt uféral &t same A IsT

Options :

1. % TUATEd faRwoT

2. % Wearad A=

3. QoS fa=eoT

4. % URHUERS [qRwor

Question Number : 75 Question Id : 630680634316 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ﬁ!ﬂé@@awﬁ,Wﬁﬁﬁﬁﬁ,mﬁmmmﬂ@ﬁﬂﬂﬁ%%ﬁ@nwmﬁm%

Options :

1. * fogan
2. ¢ 3ifqw
3. % g
4. % Fdd

Question Number : 75 Question Id : 630680634316 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
ﬁ!&régr@awﬁ,mﬁmﬁﬁ@r,wﬁmmwﬁ@ﬁnww%ﬁaﬁwmﬁm%
Options :

1. % foean

2. ¢ Sifqw



3. % g
4. % gId

Question Number : 76 Question Id : 630680634327 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
became the first Indian woman to claim a gold medal in javelin in Asian Games 20237
Options :
1. ® Parul Chaudhary
2. % Preeti Rajak
3. ¥ Sift Kaur
4. % Annu Rani

Question Number : 76 Question Id : 630680634327 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
ORIGA T 2023 H HIdT theb H WU Uae S dTell Ugell YR Afgel s |
Options :
1. % Ored e
2. % ifd 35
3. % Rpd ®R
4. YA

Question Number : 77 Question Id : 630680634328 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Khelo India Para Games 2023 was inaugurated by
Options :

1. % Narendra Modi

2. % Vijay Goel

3. % Anurag Singh Thakur

4. % Rajyavardhan Singh Rathore

Question Number : 77 Question Id : 630680634328 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T ST U1 Y 2023 T IgHTH SR faar T T
Options :

1. % Rg A

2. % faorg Mga

3. ¢ g g 313N

4. % IgaeH Rig WS

Question Number : 78 Question Id : 630680634349 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Ministry of Defence signed a contract for procurement of six Dornier-228 aircraft for the Indian Air Force from
Options :

1. ¥ Bharat Dynamics

2. ¥ Paras Defence And Space

3. # Dassault Aviation

4. # Hindustan Aeronautics Limited



Question Number : 78 Question Id : 630680634349 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

&1 HATT T YR arg A1 & o B8 SIfFaR-228 AT @1 Wiie & o U Sigay W gwer fpu|
Options :

1. % HRd S

2. % URY Sy Ts WY

3. % SHieC UfAuRH

4. ¢ gt wRHITea faftics

Question Number : 79 Question Id : 630680634350 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Pradhan Mantri Janjati Adivasi Nyaya Maha Abhiyan (PM JANMAN) comes with a total outlay of
Options :

1. #* Rs.10,544 crore.

2. % Rs.16,756 crore.

3. % Rs.18,058 crore.

4. ¥ Rs.24,104 crore.

Question Number : 79 Question Id : 630680634350 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

g T Sefa snfeardt <m 7eT S (PM JANMAN) H B ¥ ufveg o) T S R
Options :

1. % 10,544 PRIS

2. % 316,756 RIS

3. % 218,058 PRIS

4. ¥ 324,104 TS

Question Number : 80 Question Id : 630680634351 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following topped the list in the 'State of India’s Environment 2023' report released by the Centre for Science and
Environment CSE and Down to Earth in terms of overall environmental performance?

Options :

1. ¥ Telangana

2. ® Mabharashtra

3. ®# Madhya Pradesh
4. # Gujarat

Question Number : 80 Question Id : 630680634351 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

791 yafaroiid veRH & A B Hex B R TS THaRRAHE CSE 3R S84 ¢ 37 gRT IR 'YRd &1 yafaror fyfa Rue 2023
A Feffed A d o i R g

Options :

1. ¢ Qe

2. % HERIY

3. % O UG

4. % TR



Question Number : 81 Question Id : 630680634352 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Non-Cooperation Movement was launched by the Indian National Congress under the leadership of
Options :

1. ¥ Mahatma Gandhi

2. # Jawaharlal Nehru

3. ¥ Bal Gangadhar Tilak

4. ¥ Gopal Krishna Gokhale

Question Number : 81 Question Id : 630680634352 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

YR AP S gRIT & Aqcd H STGUNT SHiGIer L fobar T T
Options :

1.« HETHT et

2. % SATERAS g

3. % el TR foerep

4. % U HUT MG

Question Number : 82 Question Id : 630680634353 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
was officially recognized as a classical language in India in 2013.

Options :

1. % Tamil

2. ¥ Malayalam
3. # Sanskrit

4. # Telugu

Question Number : 82 Question Id : 630680634353 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
1 SMIYBING dR TR 2013 H HRA H T ARG TS P T H T=aht & 15 ot
Options :
1. % qffred
2. ¢ HAYIAH
3. % g&pd
4. % 9]

Question Number : 83 Question Id : 630680634334 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Tropical Evergreen Forests in India is found in which of the following regions?
Options :

1. # West Odisha

2. % upper parts of Assam

3. # Chhattisgarh

4. % Uttar Pradesh

Question Number : 83 Question Id : 630680634334 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



HRd § S feddiy gereeR 9 Fuafefad § 3 fow & 8 urw o 82
Options :

1. % gf¥y siifgem

2. ¢ 3GH B HU HIT

3. % UG

4, % JTRUSY

Question Number : 84 Question Id : 630680634355 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Consider the following statements:

A) Eight Indian states have a bicameral legislature.

B) Andhra Pradesh has a bicameral legislature.

C) The Lok Sabha and the State Legislative Assemblies are directly elected by the people.

Options :

1. % Only A and B is true
2. % Only B and C is true
3. % Only A and C is true
4. % A, B, C are true

Question Number : 84 Question Id : 630680634355 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
fafifed Hu R fqaR ST

A) 31T8 YR Ioat § fgre-a faenfier ]

B) 3y waw H fgdata fauer g

C) AHTHT 3R I I quT e war gRy FHaffrd &t ot €1
Options :

. ®* PITANRBIIG
2. ¢ Had B 3R C G &
3. % HITAIMRCITE
4. % A B,CIIE

Question Number : 85 Question Id : 630680634356 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The is the outermost whorl of the flower
Options :

1. # corolla
2. % calyx
3. ¥ Androecium

4. % epicarp

Question Number : 85 Question Id : 630680634356 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
, B0 BT I 16 I BI 5
Options :
1. % qaqs
2. */Wﬂ\_’f
3. % gHTT
4. % STRIHATHFT



Question Number : 86 Question Id : 630680634367 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In a class of 80 students. Harsh ranks 10th from the top among boys. If the ratio of boys and girls is 3 : 1, then what will be his position
among the boys from the bottom?

Options :
1. % 53rd
2. % 51st
3. ¥ 54th
4. % 55th

Question Number : 86 Question Id : 630680634367 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

80 faenffal ot ue wen A, g9, dsd! A 2 T 10d WM W 71 A TS5F 3R TSfbal &1 3 urd 3 : 1 8, A a5l & A1 I 3T
R DHIF-A1 R

Options :

1. % 53a(

2. ¢ 5141

3. % 547

4. ® 5591

Question Number : 87 Question Id : 630680634358 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If all the symbols are dropped from the given series, then what will be the position "N" from the left side?
M*ISK#KBUJI&%D#NRQDHLO@PTEF

Options :
1. # 12th
2. % 10th
3. # 15th
4. % 9th

Question Number : 87 Question Id : 630680634358 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

e &t 72 gRgar & Tt Ul ger A g, | a1 SR I N BT RIH 1 I
M*I$K#KBUJI&%D#NRQDHLO@PTEF

Options :
1. % 129
2. 104l
3. % 1547
4. % odi



Question Number : 88 Question Id : 630680634369 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If all the letters in each of the words are arranged alphabetically within the words how many words will remain unchanged?
GTR CSE OUI VGT AMN

Options :
1. %2
2. %3
3.91
4. % 4

Question Number : 88 Question Id : 630680634369 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I TAF Teg b THY 31&RT B IY Weg & 3 JUIhH & gafeyd frar o ot foram reg; srafafda @i

GTR CSE OUI VGT AMN
Options :

1. %2

2. %3

3.9 1

4, % 4

Question Number : 89 Question Id : 630680634360 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
If ‘A x B’ means ‘A is the husband of B’.

If ‘A + B’ means ‘A is the mother of B’.
If ‘A +~ B’ means ‘A is the son of B’.
If ‘A — B’ means ‘A is the wife of B’.

How is K related to N in the expression ‘N + B - K+ P’
Options :

1. ¥ Daughter's husband

2. % Son

3. # Brother

4. % Daughter's son

Question Number : 89 Question Id : 630680634360 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A x B BT I g5 A, BHTURIB

g A+ B BTfE b A, B AMGIT
I A+-B B EHF A, BH TR
gieA-B BT RH A, BHI U B

TH N +B - K = P'H, K BTN I T G 82
Options :

1. ¢ SHTE (T 1 Ufd)

2. % 7F

3.% U



4. % A7 (G BT YH)

Question Number : 90 Question Id : 630680634361 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In a certain code language, if REACT is coded as 47, then what will VILLAGE be coded as?
Options :

1. % 72

2. % 66

3.9 68

4. % 60

Question Number : 90 Question Id : 630680634361 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TS % Fe U §, afe REACT &1 47 % FU 8 Heag a1 AT 6, A VILLAGE & o UHR Feag foar S
Options :

1. % 72

2. % 66

3. %68

4. % 60

Question Number : 91 Question Id : 630680634382 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Find the ratio in which rice at % 8.2 per kg is mixed with rice at % 7.5 per kg to produce a mixture worth X 7.8 per kg.
Options :

1. % 2:
2. % 3
3.9 3
4. % 4

wn A O W

Question Number : 91 Question Id : 630680634382 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

28.2 Ufdl kg AT AT BT 27.5 Ufd kg ITQ TGS & TTY fohry Srurd & a0 27.8 U ke B BT %07 TR grm?
Options :

1. % 2:
2. % 3
3.3
4. % 4.

wn A O W

Question Number : 92 Question Id : 630680634393 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The compound interest on X 50,000 at 42% per annum is % 50,820. Find the period (in years).
Options :

1. ¥ 2 years

2. % 4 years

3. # 8 years

4. % 6 years



Question Number : 92 Question Id : 630680634393 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

250,000 TR 42% T <R Y Tehgfeg ST 250,820 €| 3faf¥y (@§f H) I B
Options :

1.v2ay

2. % 499

3. % 39y

4.% 699

Question Number : 93 Question Id : 630680634374 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The given pie chart shows the percentage distribution of the number of people who attended a workshop from 5
different companies. If the number of people who attended the workshop from company A is 560, then find the average
mumber of people who attended the workshop from companies B and E.

Percentage distribution of the number
of people who attended a workshop

Options :
1. % 600
2. % 750
3. %700
4. ¥ 800

Question Number : 93 Question Id : 630680634374 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



T 717 9 =€ F 5 HET-37FT FAAT T T HIAMeT H AT ofed dTel A= S &I F Jiaerd
foreor ST 14T g1 I FIeT A W SHIITET H ST o aTer |9 hr H§Ear 560 ¢, A #9er B 3T E
T FmeT & 6T 9 grer @ #r sitmg e A ST

Percentage distribution of the number
of people who attended a workshop

Percentage distribution of the number of people who attended a workshop = Teh FTIATAT H T oI aTel AT Fr
HEAT T e faawor

Options :
1. % 600
2. % 750
3. % 700
4. ¥ 800

Question Number : 94 Question Id : 630680634375 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Find the sum of all those prime numbers which are less than 22.
Options :

1. %80

2.9 77

3. %79

4. % 83

Question Number : 94 Question Id : 630680634375 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

22 Y BIE Gt 31U HBATS T IR T iferT|
Options :

1. % 80

2.¥ 177

3. %79

4, % 83

Question Number : 95 Question Id : 630680634376 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
IfV(A/361) = 21/19, then find the value of A.
Options :

1. % 484



2.9 441
3. % 400
4. % 324

Question Number : 95 Question Id : 630680634376 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T V(A/361) = 21/19 B, T A BT HIF J1d DIToT|
Options :

1. % 484

2. % 441

3. %400

4. % 324

Question Number : 96 Question Id : 630680634397 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The difference between 39% of a number and 22% of the same number is 221. What is 47% of that number?
Options :

1. ® 615

2. % 723

3. ¥ 611

4. % 713

Question Number : 96 Question Id : 630680634397 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TH G- & 39% SR I WA & 22% P S1F 221 BT 3R & | I WS BT 47% {1 gm2
Options :

1. # 615

2. % 723

3. % 611

4. % 713

Question Number : 97 Question Id : 630680634388 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A trader sold a refrigerator for X 15,600 at a 20% profit. At what price should the refrigerator have been sold to break even (no profit or
loss)?

Options :

1. % 213,000
2. % % 11,000
3. ¥ 316,000
4. % 318,000

Question Number : 97 Question Id : 630680634388 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TH URY A T IFORER 20% TATH W 215,600 T 9211 86 39 (7 A1 7 1) F forg ApoReR & ford S W =01 o711 91T
T2

Options :

1. % 313,000

2. % 211,000



3. % 316,000
4. % 318,000

Question Number : 98 Question Id : 630680634389 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The sum of the three numbers is 342. If the first number is thrice the second and the third number is third-fourth of the second, then find
the second number.

Options :
1. % 77
2. %76
3.972
4. % 74

Question Number : 98 Question Id : 630680634389 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

gﬁ%waﬁwaﬁwm%ﬁmﬂw,mmﬁ?ﬁqw%sﬁ??ﬁﬂﬁ@,gﬂﬁaﬁaﬁ?ﬁ%%ﬂ‘rmmm
I

Options :

1. % 77

2. %76

3.972

4. % 74

Question Number : 99 Question Id : 630680634400 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A can do a work in 21/2 days while B can do it in 25/2 days. They undertake to complete it together for T 1840. What will be the share of
A in this amount of money?

Options :

1. # %500
2. % %1500
3. #1100
4. %1000

Question Number : 99 Question Id : 630680634400 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

AfFf B &t 21/2 e & &R U1 8 STafds B 39 25/2 7 & o TavdT ¢ | 1Y AR I 39 21840 B IR HrA1 WHR o 81 39
IR H A 1 = fobe g

Options :

1. #3500

2. % 31500

3. % 21100

4. v 21000

Question Number : 100 Question Id : 630680634391 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The ratio of time taken by X and Y to cover a certain distance is 11 : 21. Find the ratio of their respective speed.
Options :

1.¥21:11



2. %20:11
3.%21:16
4. % 11:16

Question Number : 100 Question Id : 630680634391 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

foreht fAfd g I T HA B X SR Y T T8 71U THT &7 3UIT 11 : 21 §1 3! TSI I1d BT SUTd 1 Hiforg|
Options :

1. %2111

2.%20:11

3.%21:16

4. % 11:16



